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II. Simple Trinomials — Always look for a common
factor first!
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III. Decomposition
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IV. Perfect Squares
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V. Difference of Squares

a) 4x° —25 b) 36x° — 64
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Factoring Methods Covered...

» Greatest Common Factor
« Simple Trinomials

e Hard Trinomials

o Perfect Square Trinomials
« Difference of Squares



Tr17 This One!!

Factor Completely:




Review of Long Division
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Long Division of Polynomials

Example... (x3 +x? —3x—l) - (x—|—2)

/. Quotient

'\: X - | «~——eRemainder

— x+e,z~' Ny
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Check... Divisor X Quotient + Remainder = =Bividend

Example #2... X — 2)3{:3 —4x°+x+6
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